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OO0IEL2Z2C AL 2 AIY 378,000 378
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Ogur4 2l 9,576
—=XGERYERRY 7,176
YT R(EZ4BABHE)
25,0003 * 1500« 105 +80%< & &> 3,000
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203 ¥ 2 =&XH| 1,600 1,600 0
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206 M = Hl 18,960 12,600 6,360
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O=sXANE2XM2 L 2,800
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1,500 1, 00000 *80%< & 2> 1,200
— EEQI3= 1,000 1, 0000 *80%< & 2> 800
—HeIE(QYAAHOSE)
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305 HHA2S 2,000 2,000 0
01 A Z2S 2,000 2,000 0
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401 AIEHIZL 201 Y| 100,000 0 100,000
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70,000,000& = 14! 70,000
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T 14,970
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Xl 24,580
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T 22,340
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T 22,340
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Xl 49,890
Al 34,920
- 14,970
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Xl 59,320
Al 41,520
T 17,800
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4,790,000& 4,790
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FAZEE =22 4,733 4,490 243
101 @124 dl 3,533 3,290 243
0412t Z2XREE+ 3,533 3,290 243
OFANFA+22(BUHEHESELE)
137,988& %401 x4 2 23| x80%< & 2> 3,533
206 M= Hl 1,200 1,200 0
01 =4l 1,200 1,200 0
OBMEIZ2I TP
1,500,000& »80%<& 2> 1,200
WES TASE =4 2,580,540 1,763,449 817,091
X 450,000
Al 908,214
- 1,222,326
ANRIE 28 B&=X x4 2,580,540 1,763,449 817,091
Xl 450,000
Al 908,214
- 1,222,326
ENSEEH 500,000 443,000 57,000
Al 350,000
- 150,000
401 Al HI K 2018 500,000 443,000 57,000
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AN =0
o HEE AR EA
el AlRlg 918 DS X4 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 350,000
T 150,000
01 A& HI 496,400 439,900 56,500
OQHAMZEZATH =L ALY 496,400,000 496,400
Al 347,480
- 148,920
03 Al 2 0HHI 3,600 3,100 500
OQtMZEZATHEL ALY 3,600,000& 3,600
Al 2,520
T 1,080
SEANEsI 22 395,480 348,280 47,200
Al 266,700
T 128,780
101 @124 dl 163,000 163,000 0
Al 114,100
- 48,900
04 JI2ZHHZ2XREES 163,000 163,000 0
OZJANE=X2edRdGHEEESSEE)
163,000, 000& 163,000
Al 114,100
T 48,900
206 M= Hl 14,480 9,280 5,200
01 = tl 14,480 9,280 5,200
OdoisM—-e
10,0003 *80H »3EZ +80%<& 2> 1,920
ORULELHMAL(ALIR)
12,0003 *0.2kg*1,000=2 *80%<E 2> 1,920
ORRHELNSERY
25,0003 1002 *80%< & &> 2,000
OXZ+SFHHLYEH =Y
12,000 & *400 Z x80%< & 2> 3,840
Of=E&H=¢ 4,000 *500 & x80%< & &> 1,600
OZE=X&elES2FHUFTY
800& *5,000 L x80%< & &> 3,200
401 AIEHI L 2 CHYI 218,000 176,000 42,000
Al 152,600
T 65,400
01 A& HI 216,430 174,733 41,697
OZ3ANE=sI=A 22 216,430,000 216,430
Al 151,501
- 64,929
03 Al 2 THHI 1,570 1,267 303
O3 ANE=X=A 2L 1,570,000& 1,570
Al 1,099
= 471
SEANE S22 419,416 274,448 144,968
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SN BR=XD
M YHE TASE =4
el AlRlg 918 DS X4 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 112,000
T 307,416
201 LBH2E| 80,696 51,968 28,728
01 At 22l 7,687 7,571 116
O e8| 7,687
— 2k HE 58,3503 *400H 2 +23] 4,668
S NESYRAFI MR B AL
251,570 128 3,019
02 =224l 73,009 44,397 28,612
OA&EZHI S X 73,009
— o sAANESR A2
250,000 58K £ *80%<E 2> 11,600
—Elol=0lHZdAS
12,356,000 & *80%< & 2> 9,885
—HsSAERI 2
250,000 54 A +80%<E 2> 10,800
—SEANESFA 2L
250,000 *B0IH A *80%<E 2> 12,000
—S3 &2 EFHd =2l
45,000 *36CH x23] 80%< & 2> 2,592
~ZAUSLURNE S
1,000, 0003 *6IH 2 x80%< & 2t > 4,800
—suzgzARLST 2L
2,200,000 83| x80%< & 2> 14,080
—S¥2AUBHEFU 7,252
e
1,4313 %50 «90L «10CH *B0%<E 2> 5,152
MEeUS
5,000& x154 *20CH *B0%<E 2> 1,200
-ty 5,000& %150 *15CH*80%<Z &> 900
206 M= Hl 27,720 23,480 4,240
01 =8l 27,720 23,480 4,240
OZ3ANEgsE=HEFRLY 16,400
— STH(EM, 2 ,018)
55,0003 *20001 x80%< & 2> 8,800
—¥= 200,000& *30m" *80%<& 2> 4,800
—2E253 1,000 *1, 00000 *80%< & 2+ > 800
—OIAZEAZ2E
25,000 100 m *80%< & 2> 2,000
OSFANESTM(LYAH AL 2 AES
25,0003 #6000 £ *5F *80%<E 2> 6,000
OSAALEMNTY 5,320
— DFAH 11,000& x100m* *80%< & 2+ > 880
— 2 21,0003 200 m" *80%< & 2> 3,360
- &z 15,0003 x90 m* x80%< & 2+ > 1,080
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AN =0
M YHE TASE =4
el AlDlE e ZRE=X X4 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
5 e 2SS 1,000 1,000 0
01 tH& =SS 1,000 1,000 0
O ZHHTEHAS 1,000, 000& 1,000
401 Al Bl 28I 310,000 198,000 112,000
Al 112,000
T 198,000
01 A& HI 307,768 198,000 109,768
OZ3ANEERA &AL 49,640
— 3RAANEEHUAEZ 29,784,000 29,784
—=2s0g83ANE7mX 22 19,856, 000& 19,856
OsNI=CAAY 99,280
—Lx=sstnAd L3 AFH 44,676,000 44,676
— a2 (MExzE22)dA8L
4,964,000 4,964
—SESUsEEFHEZEH 19,856,000& 19,856
— MBS HZFZ Y 29,784,000 29,784
OZ22U=RdEZZEY 158,848,000& 158,848
Al 111,194
T 47,654
03 AIE 2 0HHI 2,232 0 2,232
OZFANESI 2l AY 2,232,000& 2,232
Al 806
- 1,426
S22 432,597 385,025 47,572
Al 14,000
- 418,597
101 14 dl 161,493 138,932 22,561
4 DIt ZE2EXREES 161,493 138,932 22,561
OMZ=XAUMA XL (BUHEEZSEEH)
51,7603 x202! 120 «80%< & &> 99,380
OSAF2ARY(BUHEEHESSELE)
51,7603 x102! * 120 x80%< & &> 49,690
OANEESCMIALA(CHEEESEE)
51,7603 x521 60 x80%<E &> 12,423
201 2ot 2 Y| 243,944 212,993 30,951
01 At 22l 33,790 28,200 5,590
Oggt=&H| 27,600
— S0 SHHS =2 L OFLH EHAI &
5,000& *400 71 »80%< & 2> 17,600
— SALUEFHLESIAL(M=I1LS)
20,0003 *10E x20IH *80%< & 2> 3,200
—SAFLFY
700& *2, 00071 *80%< & 2> 1,120
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2N
X ZH -
L= B

el

K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
—HIIZ2XH2==x2
56,0003 100 M *80%<&E 2> 4,480
— 2O0IHHIAIAE (AMTHS 22 AL
100,000& = 12& 1,200
ogxs 6,190
—dSNE=ZF=HELIS 3,047,000 3,047
—SdAEHULXNZ 3,143,000 3,143
02 =329l 210,154 184,793 25,361
OZ2Z222Y4 A 192,760
—MIIR22 80,400
Helols& 100,000& 200 A~ *12& 24,000
M SR 3,300,000& *10H A x12& 39,600
- Jl2 ket 100, 000 & #4 0 A~ x 128 4,800
ol & 500,000 1 A~ x12& 6,000
NS ol3& 500,000& * 10 A = 12& 6,000
—MrER= 55,440
SIEALSH 66,000 201 A~ 12 15,840
MNSE SR 1,300,000& 1 A~ x12& 15,600
Ot 2l0lZ2& 1,000,000 & 100 A +12& 12,000
ASHel0ls& 1,000,000 *10H A=12& 12,000
— SIS HLIA 60,000& x12& 720
—9XES3HIb () 56,200,000& 56,200
oozl 400
—SE2AH AT 2L
500,000& *80%<& 25> 400
O 0I=0lAIEEHIHHMAI A A E=ES2
16,994 ,000& 16,994
206 M=l 25,400 25,400 0
Al 14,000
- 11,400
01 &bl 25,400 25,400 0
OZ&AXHEXxFFEFY 1,500& *65 *600= 5,400
OZ22ItEOIAFY (6200 A ) 20,000,000& 20,000
Al 14,000
- 6,000
405 X+HaHF SHI 1,760 7,700 N5,940
01 It = S F SHI 1,760 7,700 AN5,940
O2g 22| &yl 2 1,760
- &3 600, 0003 *2CH 1,200
— =SHIH 560, 000& = 1CH 560
szgxsaxze 96,300 90,000 6,300
Al 67,410
- 28,890
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2N
X ZH -
L= B

el

o o Jir
n
o >
0H
0
BTy
= 0x

00
0

0
i

S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 49,520 52,260 A2,740
Al 34,664
- 14,856
04 JIZHHZ22XREES 49,520 52,260 AN2,740
OSEYZ=#2ALY (SHEH2STE)
49,520,000 49,520
Al 34,664
- 14,856
201 ¢er24| 29,640 27,740 1,900
Al 20,748
- 8,892
02 =224l 29,640 27,740 1,900
OZ2S2SZMA 23,640
—dIIReR=a 14,400,000& 14,400
Al 10,080
- 4,320
—&ot=ER3 9,000,000& 9,000
Al 6,300
T 2,700
—sies 240,000 240
Al 168
T 72
OAIE ZHI S X 6,000
— SEEAME U =X 6,000,000 6,000
Al 4,200
- 1,800
202 04l 2,000 0 2,000
Al 1,400
- 600
01 = LH 4 Hi 2,000 0 2,000
OSSR =ML
2,000,000& 2,000
Al 1,400
- 600
206 M= Hl 15,140 10,000 5,140
Al 10,598
- 4,542
01 =8l 15,140 10,000 5,140
Os&Eg3zd2cMztl 15, 140,000& 15,140
Al 10,598
T 4,542
SEAU SS5stEA 22 (BEx) 236,747 222,696 14,051
Al 73,104
T 163,643
101 @124 dl 154,347 141,000 13,347
Al 43,304
T 111,043
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Slet BASK E4 CERED
- _ _ RE]
M- B (B H) - NSAY - B Ol At o ﬁ}lgﬁ HRE2
04 JI2ZtHIZ2 2 NEES 154,347 141,000 13,347
OZHAUSSHZIAF LS
(stHeEasxs) 154,347,000 154,347
Al 43,304
- 111,043
201 LBt 48,400 31,696 16,704
Al 6,000
- 42,400
01 AP 22| H| 30,000 21,376 8,624
Ogbt4=24| 30,000
— 2SI ARAHZFTAEZT Y
(MYIIESEA2IMESR) 30,000
30,000,000
Al 6,000
- 24,000
02 E2=22%H| 18,400 10,320 8,080
OA & &l 8 XYl 18,400
—Z22AHZ2EHARSANES
500,000 46l 2= x80%< & 2> 18,400
401 Al HI L £ 0HHI 34,000 50,000 A 16,000
Al 23,800
- 10,200
01 Al& H| 34,000 50,000 A 16,000
OZ2Z & A AU S AIY 34,000,000 34,000
Al 23,800
- 10,200
HSE AFX HIt=X H&EAS 500,000 0 500,000
Xl 450,000
Al 25,000
- 25,000
401 AlEHIZL 201 Y| 500,000 0 500,000
Xl 450,000
Al 25,000
- 25,000
01 A& H| 496,400 0 496,400
OYHEAFZXNHII=XIMSEAIS 496,400,000 496,400
N 446,760
Al 24,820
- 24,820
03 AlE 20| 3,600 0 3,600
OYUSAZXNHIII=sAMEAIS 3,600,000& 3,600
Xl 3,240
Al 180
- 180
A 23E Y= ANosAZ2E 2 749,121 373,809 375,312
Dl 300,000
- 449,121
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2N SE=KL
g e
A2

Sol: ADIEAB 22 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ANBISA S 2| 749,121 373,809 375,312
J| 300,000
- 449,121
ZEXLC JFRD| 74,164 67,347 6,817
101 e1214| 50,850 47,392 3,458
04 J|12ZtHIZ22NEES 50,850 47,392 3,458
OrCIZgeBA(SHEEZSEE)
51,7603 x721 x 130 *80%<&E 2> 37,682
OffI 222U (FHEE2SEE)
51,7603 x321 x 106 L *80%<&E 2> 13,168
QB2 A Y| 16,034 13,355 2,679
01 AP 2t 2| H| 11,344 9,680 1,664
Ogttf=2y| 11,344
—oflIl 2= 22/ (X2 AHl)
6,000 *25J * 16 *80%< & 2> 1,920
— AU AEIA(M=IILE)
60,000& *7 5 *x43] *x80%< & 2+> 1,344
— MUEARY(50/29F)
6,000 *30H *10= *80%< & 2> 1,440
~BRHPY(ROIZLBEAS)
60,000& 100 55 *80%< & 2> 2,400
—2MSHAXNHPL(0OIHE)
2,000 * 15000 x5 *80%< & 2> 1,200
— Zdl 228l (&CI 2121 H)
200,000 *8CH x80%< & 2> 1,280
— Adl &2l (s A &0 2I])
1,200,000 = 1CH*80%< & 2> 960
— AT =22l
200,000 *5CH x80%< & 2> 800
22294 4,690 3,675 1,015
Od 24l 4,690
— g 1,431 x50 *8LH*40L 2,290
— XA =DI2A6T)
5,000€ x5¢ =86 1,200
—CC2Y(M=DI26Z) 5,000 «50 «8LH~6L! 1,200
206 M = dl 7,280 6,600 680
01 X2 bl 7,280 6,600 680
OXClMEMHMYH S L
35,0002 x604 *80%<& 2> 1,680
O&ClazH 40,0003 x504 *80%<&E 2> 1,600
Oxds22E2H 287
6,000 *500 I *80%< & 2> 2,400
OXBLIGAH2LY 20,000 1002 *80%<E 2> 1,600
sS85 & A2 52,762 49,266 3,496
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2N SE=KL
g e
A2

Sol: ADIEAB 22 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 44,340 41,362 2,978
01 At 22l 7,251 7,625 A374
Oget=gHl 7,251
— MY JIESENSEFRY
3,300 x600H * 123 «80%< & &> 1,901
— M|t 2| T & === 2 (150kW)
155,980 » 122 »80%< & 2> 1,498
— &tz 300, 000& *4H A +23 2,400
— S ACESS
30,0003 #4 0 A+ 123 x80%< & 2> 1,152
—SEMMZEEII==2 300,000& =13 300
02 2324l 37,089 33,737 3,352
O=2Z223LHA 23,580
—&ot=ER3 600,000& =122 7,200
—dIIRa 1,365,000 128 16,380
Ozl 666
— A2 7922 *8Al 2tx10H » 105 666
OA& & Hl s Xl 12,843
— AES Xl 1,883
22| AH(25E = 1t) 5,0273 %287 .17m’ 1,444
HELS=SSHEA(28)
2,065&%212.34m’ 439
— 33 ANEERXHI
350,000 *440H A *1/2%80%<E 2> 6,160
— zasxaFy|
50,000% *440S »1/5+80%< & 2> 3,520
—SMOIBAERXE(ZS=%)
400,000 42 J| *80%<E 2> 1,280
206 M= Hl 7,072 5,904 1,168
01 =8l 7,072 5,904 1,168
OZAANEE = 7,072
— Y. +4HIAES
140,000& 40 *80%<& 2> 4,480
— MM (e HYER 2ES)7Y
4,000& 6071 *80%< & 2> 192
—YR= 6,000& *500 71 »80%< & 2> 2,400
405 XtatE SHI 1,350 2,000 A 650
01 AL EFH S 1,350 2,000 A 650
OUE SR 22 &L 7 1,350
— S0 F0I 450,000 304 1,350
MEl S S A 22 56,405 67,196 210,791
101 14l 37,765 35,196 2,569
04 JI2ZtHZ22HEE =+ 37,765 35,196 2,569
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25 2=
M AL 2IE = AMUSAZB2E XM
S9l: AIRIEAIZH el CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %E& HRE2
SFEEEEEEERIEEEEES))
51,7603 #8021 x 114 x80%< & 2+> 37,765
201 Yere | 6.720 6,080 640
01 AFR2 2t 2| H| 6,720 6,080 640
Ogst=2H| 6,720
—&AER 21,0003 x 100 *10E *80%<& 2> 1,680
— & A0 800 x1,0000H *80%< & 2> 640
— JIEFRFTHCH 11,0002 *2000 * 105 *80%< & 2> 1,760
— 2L E(HNRE6E)
11,000& *6= x50 *80%< & 2> 2,640
206 M = dl 11,920 25,920 A 14,000
01 T2l 11,920 25,920 A 14,000
OMEIZ2 22l M2l 11,920
—gHETH S
12,000& 1008 25 +80%< & 2> 1,920
— X2 sSH 2
15,0002 *300 &L x80%< & 2> 3,600
— E=g4 37 4,000 *500 I *80%< & 2> 1,600
—OIEREQUAHICE
200,000 x30S *80%< & 2> 4,800
2R AEHA 135,790 190,000 A54,210
401 AlEHIZL 2 0HY| 135,790 190,000 AbB4 210
01 Al& H| 135,000 188, 240 A B3, 240
OFMNEAH=ZI 2L ALY 50,000,000 50,000
OUNEZBIAS I 22 AtY 30,000,000 30,000
OHEZIZAIEIAS 10,000,000& 10,000
OZGIAINESBJAINEHESUHNMRCAY
5,000,000& 5,000
OUNHEZRAL24+HIAIEE X ALY 40,000,000 40,000
03 AlE 21| 790 1,760 A 970
OA& 20| 790,000& 790
sttt 280 Usd =4 430,000 0 430,000
J| 300,000
5 130,000
401 Al HI L £ 0HHI 430,000 0 430,000
J| 300,000
5 130,000
01 Al& H| 426,900 0 426,900
Ose=2&MUs2dxHd 426,900,000& 426,900
J| 297,830
- 129,070
03 Al&E 201 Y| 3,100 0 3,100
Oss=2&MLSLXH 3,100,000 3,100
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2N SE=KL
g e
A2

el ARIBAIZY B2 (SHol: @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 2,170
T 930
HE2LAZH(SE=X1) 480,563 462,031 18,532
ol 2d | 459,704 442,745 16,959
ol 2| 459,704 442,745 16,959
101 @124l 459,704 442,745 16,959
01 2=+ 75,784 69,963 5,821
ONZeRRLg
9,649% #2201 x35A| 2Fx 123 x85%< & 2> 75,784
02 JIEt A2+ 9,514 8,551 963
ONZ22R4+S(FRYE)
8,883 321 «35A] 2t * 12& +85%< & 2> 9,514
03 I AHA2Z 2 HE > 374,406 364,231 10,175
O =2l (2 A L2/801) 343,656
=== 278,680
2a 1,746,400 821 x12& 167,655
203 1,746,400 & *821 x400% 55,885
RN
13,6212 %1.5+891 + 180 Al 2+ 29,422
guaRag
13,6213 x1.5%8C1 x8A| 2t x5 6,539
R IIZE2Y
13,6213 x8R1x8Al 2t+22 19,179
—JIE=E 7,680
bi < Xt 40,0003 821 «12& 3,840
JIEt 20,0003 1621128 3,840
— Sl 130,000& x821x12& 12,480
— WSl 140,000 «821 12 13,440
— AR 30,0003 x821«12& 2,880
—gEL(BABL, =T2)
50,000& 201128 1,200
— B2 S0yl 1,746,400 *821 x75%*23] 20,957
—SHRE4+Y(DSED)
422 ,400& 101 %43 1,690
— I =l 2,600
= 35,000 8=t 280
gt = 80,0003 8%t 640
£ 9 10,0002 8=t 80
A=Y 22,0003 8=t 176
ot 3t 43,0003 8= 344
& 3t 10,0002 8% 80
2t 5t 3t 19,000 x8=F 152
2ete 10,000 *8H 80
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AN =0
M HY2IAZH (=S
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot 2,000 821 44«12 768
— W=l 100, 000& *4 0! 400
— WE0Y 87,4003 421 »32 1,049
—2dAEE 25,0003 201128 600
Ol AI 22 (HEE2/100) 30,750
-38 ¥ =¥ 24,319
2s 1,247,3102 128 14,968
a03 1,247,310& »400% 4,990
CANeRRaY
10, 138& % 1.5%121 %180 Al 2+ 2,738
AXsIZE2EY
10, 1383 *8AI 2H+101+20 1,623
—JIE=E 960
b < Xt 40,000 101 128 480
JIEt 20,0003 201123 480
— S &l 130,000& »12& 1,560
— sl 140,000& =128 1,680
— e 30,000& =122 360
— HES0td| 1,247,310 *75%*23] 1,871
JlEZdl 20,859 19,286 1,573
Jl2zl 20,859 19,286 1,573
201 Let2d] 13,140 12,487 653
01 At 22l 13,140 12,487 653
O+t 8,608
—RENA2E=EH| 10,760,000& *80%<& 2> 8,608
O3l 3,092
—RARIYREAS ALY
7,000 #2301 +24 2 +80%<E 2> 3,092
ogxtz 1,440
— =AML IZ 120,000 = 1CH=12& 1,440
202 44l 3,519 3,439 80
01 S OHI 3,519 3,439 80
OZ3=sA&egR=AAH
87,400 #4021 x3 x23| x80%<E 2> 1,679
ORN2ELRZ=THH
20,0003 #2301 +52 +80%<E 2> 1,840
203 YR =2t 4,200 3,360 840
04 EA2IYRFLH| 4,200 3,360 840
ORN2EYEF=AHI 350,000& »12& 4,200
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